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What is Reasoning Ability 7 Explain the main iypes of reasoning ability in detall.- e 2_0)
What Is Aptitude test. Explain.imporiance of Apfitude test,

What is entranca examination, list out the name of entrance examination and explain any one of themin ¢ 2_@)

. detail.

Each question Is compulsory & carry one marks. - C\ g.)
TIGER :: QDFHS FiSH: ?

(A} GERH , (Bl  GRHE
()  GREH (D) GHRE
ROAR :: URDU * URDU : |

A) 31425 ' B 54213
© 34251 © 15243
QPO, NML, KJI, ,EDC '

(A} HGF - B)  CAB
€  JKL D) GHI

If the Tetters of the word 'CYCLINDER' are arranged alphabetically, then which letter would be farthest
from thie first letter of word? :

@ . N (B} E
() Y 7 (D) R
' i,n_a certain codé 'SEQUENCE' is coded as 'FDOFVRFT. How is 'CHILDREN' coded in that cade?
{A)  OFESJMID (B)  OFSEMJID
(C) OFSEJIMD (D) OFSEJMID
LIGHT;BLIND ]
{A) speech:dumb {B} language:deaf
(C) tongue:sound : (D) voicevibration
AFTER:BEFCRE
(Ay - first:second (B} present:past
C) - contempaorary:historic {D) successorpredecessor
Architect : Building :: Sculptor: 7
(A) Museum ' (B) Stone
(C) - Chisel (D) Statue
My uncle decided to take ...... and my sister to the market. -
{A) | (B) Mine
(C) Me (D Myself

inétructr'un for Question No. 10 to 13

Six friénds P,Q, R, S, T and U are sitting around the hexagonal table each at one corner and are facing
the centre of the hexdgonal. P is second 1o the left of U. Q is neighbour of R and §. T is second to the
feft of 8. _ .

Which one is sitting opposite o P ?
(A} R B Q-
© T D s
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(1)

{12}

(13)

(14)

-(15)

(1)

@

Who is the fourth person to the left of Q 7

(A P ' B U

{C) R (D} Data inadequate

W'hich of the following are the neighbors of P? '

{A) UL&P . (B T&R

(Cy U&R (D) Datainadequate

Which one s sitfing oppesite to T ?

# R ' B)

{C}  Cannotbe determined o s

(1) 1(2) immediately (3} Salary {4) my (5) want

(A} 43152 (B) 15432

€y 25143 . (D) 42351 (E) 45132
{1} medicine (2} a (3) Neeta (4) given (5) was

(A 51423 S (B) 254m

©) 15423 (D) 42531 (E) 35421

- Each question Is compulsory & carry one marks. (A4S j

For question 1to 5

The following table shows the number of new employees added to djfferent categories of employees ina
company and also the number of employees from these categories who lefi the company every year
since the foundation of the Company in 1995.

Year Managers - Techniians Operators *.  Accountants Peong

 New Left  New | Left New Left , Mew

(19951 760 | - 200 | - 880 | - | 1160 | - B0 | -

1996 260 120 | 22 | 10 25 104 200 | 100 | 184 | 96 |
1997 179 92 | 240 | 28 200 120 24 | 04 | 152 | 88
(1998 148 08 | 23 | % 208 100 28 | 95 1% | 80

(1999 60 72 286 | 100 192 | 112 272 | 8B . 224 120

12000 193 95 | 288 112 248 | 144 | 260 | 82 - 200 | 104

What is the difference between the total number of Teohnicians added to the Compény and the total
number of Accountants added to the Company during the years 1996 to 20007

{A) 128 (B} 112

€ 9% o 88

What was the totél number of Peans working in the Company in.the year 19997
(Ay 1312 (|B) 1192

(©) 1088 (D) 968

Far which of the following categories the percentage increase in the number of employees working in the
Company from 1995 to 2000 was the maximum?

(A) Managers , {B) Technicians

(C) . Operators ' {D} Accountants

What is the pooled average of the total number of employees of all calegorles in the year 19977
&) 1325 B 1195

© 1265 ) 1235

23
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During the period befween 1995 and 2000, the total number of Operators who left the Company is what
percent of total number of Operators who joined the Company?

w  19% ® 2%
€ - 2% ©  29%

_For question & to 10

In a school the periodical examination are held every secend month. In a session during April 2001 -
March 2002, a student of Class IX appeared for each of the periodical exams. The aggregate marks
obtained by him in each perodicat exam are represented in the line-graph given befow.

Marks Obtained by student in Six Periedical Held in Every Two Months During the Year in the
Sesslion 2001 - 2002.

Maximum Total Marks in each Periodical Exam = 500

o T S '.405'
410 ‘ 400

400 -
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3

380
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Marks

360

350

]
0
|

340 -

330 & : 1 : i } ! ; J
Apr-01  Jun-0i  Aug-01  Oct-01  Dec01  Feb-02

Periedical Exams

in which periodiéal exams did the sfudent obtain the highest, percentage increase in marks over the
previous periodical exams 7

(A June, 01 (B) August, 01

(C) Oct, 01 (D  Dec, 01

The -total number of marks obtained in Feb, 02 is what percant of the total marks obtained in April 01 7
{A) 110% . (B) 112.5%

€y | 1% D) 116.5%

What is the percentage of marks obtained by the student in the periodical exams of August, 01 and Ocl,
01 taken together ? :

(Ay  73.25% (B8)  75.5%
.(C) 7% Dy 78.75%

What are the average marks obtained by the student in all the periodical exams during the last session ?
(y 378 . | 379"

©) 38 ' @) 386

in which pericdical exams there is a fall in percentage of marks as compared-to the previous periodical
exams ? ' '

(A)  None B)  June, 01
)  Oct,01 (D)  Feb,02

o LTl




(11)

(12)

{1 3)l

(15)

Instruction for Question No. 11 to 15 :Study the following graph carefully and answer the questions
given befow;

Distribution of candidates who were enrolled for MBA entrance exam and the candidates {out of
those enrolfed) who passed the exam in different institutes;

Candidates Enrolled = 8550

What percentage of candidates passed the Exam from instifute T out of the total number of candidates
enrolled from the same institute?

(A) 50% B - 625%

(C) 5% _ -{Dy 8%

Which insfitute has the highest percentage of candidates passed to the candidates enrolled?
@ . aq ' | ® R

©. v o T

The number of candidates passed from iﬁslitules S and P together exceeds the number of candidates
enrolled from institutes T and R together hy:

(A) 228 (B) 279

© 39 ' O 407

What i the percentage of candidates passed to the candidates enrolled for institutes Q and R together?
- (A) 68% ’ ()] 80%

© 4% D) es%

What is the ratio of ca ndidates passed to the candidates enrolled from institute P?

(A) 9:11 | ‘ (B) 14:17

© &1t ) - 8:17
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